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28. Select the shortcut key, out of the following,
which is popularly useq to paste a selectec;

(and copied) text or image in most of the
MS Office applications,

(1) Cul+P

(2) Cul+Vv’

@) Cul+X

(4) Cul+z’

29.  Which of the following is not a popular file
extension of an audio file ?

(1) mp3

(2) pdf
(3) wav

(4) flac

30. Which of the following set contains only
input devices ?
(1) Keyboard, Mouse, Scanner
(2) Printer, Scanner, Speaker

(3) Printer, Speaker, Monitor

(4) Keyboard, Mouse, Printer
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31.
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- Which one of the followmg is not associated

with unit test ?

(1) Confined to limited number of
competencies. !

2 Totally controlled by the teacher

(3)  Use of standardised achievement tests.

(4)  Results shared with parents. -

Which one of the following is least Iik‘ely a
factor affecting learning ?

(1) Imitation

(2) Maturation

(3) Readiness

(4) Co-curricular activities

A teacher first tells the rule and principle and
then cites examples to explain the concept.
Which approach she/he is adopting ?

(1) Inductive

(2) Deductive

(3) Explanatory

@)
Which is not an advantage of integrated

textbooks ?
(1) Textbook can be used as a syllabus.

Investigatory

These provide readymade materials.
These may not suit student’s individual
Jearning styles.

Such textbooks provide support to
inexperienced teachers.

)
(3)

(4)

Complete the statement :

In teaching if nothing has been learned,
nothing has been

(1) taught

(2) studied

(3) examined

)

observed
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93. The matrix which describe the reflection of

point P(x, y) through the origin is :

5
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&) | 0 -1
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94. }P:B'_CD is a cyclic quadrilateral such that AB
is a diameter of the circle circumscribing it

and ZADC =140°, then ZBAC is equal to :

(1) 80° - c
@ “ A
-2 50°
(3) 40° .
4) 30°
95, If P'(x' A /5\ 3% reflection of the point
P(x, y) oc&th x-axis, then the matrix which
describe the reflection of point P(x, y), in the
x-axis is
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